
Terminales  Mathématiques       

Calcul d’intégrales 

       

 

 

a/ I = ∫ 𝑥²𝑑𝑥
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0
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𝑥3
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 ] 1

0
=
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3
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3
=

𝟏
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b/ I = ∫ (𝑥2 − 𝑥 + 1)𝑑𝑥
4

−2
 = [

𝑥3

3
−

𝑥2

2
+ 𝑥 ] 4

−2
= (

43

3
−

42

2
+ 4) − (

(−2)3

3
−

(−2)2

2
+ (−2)) = (

64

3
− 4) − (−

8

3
− 4) =

72

3
= 𝟐𝟒  

 

c/ I = ∫ 2𝑒−𝑥6

0
𝑑𝑥 = [−2 𝑒−𝑥 ]

6
0

= (−2𝑒−6) − (−2𝑒0) = −𝟐𝒆−𝟔 + 𝟐 ≈ 𝟏, 𝟗𝟗𝟓  

 
 

d/ I = ∫ (12 − 4𝑥)𝑑𝑥
3

−1
= [ 12𝑥 − 2𝑥² ] 3

−1
= (12 × 3 − 2 × 32

) − (12 × (−1) − 2 × (−1)2) = 18 − (−14) = 𝟑𝟐 

 
 

e/ I = ∫ (
2𝑥+1

𝑥
) 𝑑𝑥

4

1
= ∫ (

2𝑥

𝑥
+

1

𝑥
) 𝑑𝑥

4

1
=  ∫ (2 +

1

𝑥
) 𝑑𝑥

4

1
= [ 2𝑥 + 𝑙𝑛𝑥 ]4

1
= (2 × 4 + 𝑙𝑛4) − (2 × 1 + 𝑙𝑛1) = 8 + 𝑙𝑛4 − 2 = 𝟔 + 𝒍𝒏𝟒 ≈ 𝟕, 𝟑𝟖𝟔  

 
 

f/ I = ∫ (𝑒𝑥 + 2𝑥)𝑑𝑥
5

0
 = [ 𝑒𝑥 + 𝑥² ]5

0
= (𝑒5 + 5²) − (𝑒0 + 02

) = 𝑒5 + 25 − 1 = 𝒆𝟓 + 𝟐𝟒 ≈ 𝟏𝟕𝟐, 𝟒𝟏 

 
 

g/   I = ∫  
2𝑥

𝑥2+1
 𝑑𝑥

3

0
= ∫  𝑓(𝑥) 𝑑𝑥

3

0
    avec    𝑓(𝑥) =

2𝑥

𝑥2+1
       or 𝑓 est de la forme 

𝑢′

𝑢
  avec 𝑢(𝑥) = 𝑥2 + 1   donc 𝑢′(𝑥) = 2𝑥     ainsi   𝑓 =

𝑢′

𝑢
  

 
donc une primitive de 𝑓  est   𝐹 = ln (𝑢)   soit  𝐹(𝑥) = ln (𝑥2 + 1) 
 

on a alors   I =  ∫  𝑓(𝑥) 𝑑𝑥
3

0
= 𝐹(3) − 𝐹(0) = ln(32 + 1) − ln(02 + 1) = 𝑙𝑛10 − 𝑙𝑛1 = 𝒍𝒏𝟏𝟎 ≈ 𝟐, 𝟑 

  

h/ I = ∫   
𝑙𝑛𝑥

𝑥
 𝑑𝑥

𝑒

1
= ∫  𝑓(𝑥) 𝑑𝑥

𝑒

1
    avec    𝑓(𝑥) =

𝑙𝑛𝑥

𝑥
=

1

𝑥
× 𝑙𝑛𝑥      ainsi 𝑓 est de la forme 𝑢′ × 𝑢  avec 𝑢(𝑥) = 𝑙𝑛𝑥   donc 𝑢′(𝑥) =

1

𝑥
     ainsi   𝑓 = 𝑢′ × 𝑢  

 

donc une primitive de 𝑓  est   𝐹 =
1

2
𝑢²   soit  𝐹(𝑥) =

1

2
(𝑙𝑛𝑥)² 

 

on a alors   I =  ∫  𝑓(𝑥) 𝑑𝑥
𝑒

1
= 𝐹(𝑒) − 𝐹(1) =

1

2
× (𝑙𝑛𝑒)2 −

1

2
× (𝑙𝑛1)2 =

1

2
× 12 −

1

2
× 02 =

𝟏

𝟐
  


